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RO 1 MG x| #E 9F 1500074[7F-2-(2)-@% & x]

@ 27FH|E 4 CO2 2zl HlmHE, GC-1000(1ton/Y X 2| 22hHo| A R(201887.7|F)

SABERY I AZER

A A 22 A71 7 w4 7}~ 7 w2
7t w2l (WTE)
Bin 157] 3 Feh2s 3.1(L) X 1.8(D) 3.1(L) X 1.8(D) 4.0(L) X 1.8(D)
A4 Aelg 9% ¥
BN (W) x5M (D) x5M (1) X 2.03 (W) X 2.03(W) X 2.03(W)
1 [e}
LI 61,6084 5,100¢ 7,4809
- (906
(A7) (75 KWh X 68WON/kWh) (110 kWh X 68WON/KWh)
kWh X 68WON/kWh)
pa kR 58,8489
712) (96Nm® X 613WON/Nm?)
O % H]—Q— D152 4H]:200,000¢
ELUE ¢}
N @21711]:200,000 ¢ 61,608%/ton 63,948¢/ton 7,48049/ton
o
2k g 7:400,0009/ton
COz9FAY & 1,723kg CO2/ton 430.6kg CO2/ton 249.8kg CO2/ton 52.3kg CO2/ton
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H = S HH =
=24 SE  ASZAE g
50.4%
2016 (& 3,737 MitH = 93% 94%
(2016.8) 1,884 Mt =Eh
44.17%
2017 (& 5,677 Ml = 92% 94.4%

(2017.11) 2,508 M 2&h
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